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QUESTION 1

An administrator is given two hard drives and asked to build a redundant storage solution. Which of the following RAID
levels should the administrator use? 

A. RAID 0 

B. RAID 1 

C. RAID 4 

D. RAID 5 

Correct Answer: B 

 

QUESTION 2

Clients cannot connect to the network. A technician determines that port 68 is not open. Which of the following protocols
is being blocked? 

A. POP3 

B. DNS 

C. LDAP 

D. DHCP 

Correct Answer: D 

 

QUESTION 3

An administrator is given the following network information to configure a server with a static IP address: 10.152.0.4/21.
Which of the following is the subnet mask for the given IP address? 

A. 255.248.0.0 

B. 255.255.128.0 

C. 255.255.248.0 

D. 255.255.255.248 

Correct Answer: C 

 

QUESTION 4

Joe, a system administrator, is replacing an aging print server. Once he reached the step to join the new server to the
existing domain, he kept getting an error and could not complete the step successfully. Which of the following did Joe
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forget to do? 

A. He did not recreate the printer on the new print server. 

B. He did not migrate the print server database. 

C. He did not restore a full backup of the old print server. 

D. He did not properly configure the network settings. 

Correct Answer: D 

 

QUESTION 5

Network devices between two firewalls are included in which of the following? 

A. VPN 

B. SAN 

C. VLAN 

D. DMZ 

Correct Answer: D 
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